
difference	
  ()	
  
	
  {	
  
	
   union	
  ()	
  
	
   	
  {	
  
	
   	
   cube	
  ([250,150,100]);	
  
	
   	
   translate	
  ([145,145,0])	
  cube	
  ([105,105,100]);	
  
	
   	
   translate	
  ([-­‐100,0,0])	
  cube	
  ([105,105,100]);	
  
	
   	
   translate	
  ([-­‐100,100,0])	
  cube	
  ([105,50,100]);	
  
	
   	
  }	
  
	
   translate	
  ([5,5,5])	
  cube	
  ([240,140,96]);	
  
	
   translate	
  ([150,150,5])	
  cube([95,95,96]);	
  
	
   translate	
  ([197,144,40])	
  cube	
  ([1,7,50]);	
  
	
   translate	
  ([-­‐1,125,40])	
  cube	
  ([7,1,50]);	
  
	
   translate	
  ([-­‐95,5,5])	
  cube	
  ([95,95,96]);	
  
	
   translate	
  ([-­‐95,105,5])	
  cube	
  ([95,40,96]);	
  
	
  }	
  


